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P. Novickij
The Problemist supl.
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Riešenie / Solution:
1.Da5 (5)

#2 (10+10)

J. Hartong
Problem 1953
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Riešenie / Solution:
1.De7 (2.Vb2) 1...Kd5 Vd4 Sc2 Se4 Ve4 Sb1 Se6
Je4 2.Vb5 Je5 Vb4 Vb7 Vb1 Vb1 Vb1 Vb1 (varianty
1 - 2 - 3 - 4 - 5 - 6 -7 - 8 - 9) (body 0,5 - 1 - 1,5 - 2 -
3 - 3,5 - 4 - 4,5 - 5)

#3 (9+10)

Z. Labai
1. cena
Mem. Pongrácz 1991
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 :p: : :
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: 23D 67F : 

Riešenie / Solution:
1.Vd3 (2.Vd5) 1...Jc4 2.Jc4 Ke4 3.Jd2 (1,5) Dd2 Sd2
4.Jc3 Vfe3 (0,5+0,5) 1...Sg8 2.Jf7 Ke4 3.Jg5 (1,5)
Vhg5 Vgg5 4.Jg3 Sf5 (0,5+0,5)

#5 (12+13)
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Hlinka-Kekely
p. zm.
Čs. šach 2011 ver.
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Riešenie / Solution:
1.Sd8 (0,5) b1D 2.Kb1 Vf1 3.Kb2 Vf2 4.Kb3 (2) hg
5.c7 Vf3 6.Kb4 Vf4 7.Kb5 Vf5 8.Kc6 (3) g3 9.c8D
g2 10.Sb6 Vf6 11.Kc7 (5)

+ (4+5)

J. Holubec
2. p. zm.
Uraľskij Problemist 2011
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Riešenie / Solution:
1.Dd3 ed 2.Jg4 d4 3.Je5 de 4.Vg4 ef 5.Vg5 f7 6.Kf6
f8D (2,5) 1.Vf3 ef 2.g5 f4 3.Kg6 fg 4.Kf7 g6 5.Ke8
g7 6.Jg4 g8D

H#6 2.1.1.1... (2+7)

G. F. Anderson
1. cena
American Chess Problemist 1949
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c()P :f: 67F
:P: : ()p 
 : 01RC45tc:
: : : : 

Riešenie / Solution:
1.Vc3 (2.Sb4) 1...Kd1 bc Sg3 Je5 Je7 Vb5 Vc7 Ve7
Dc7 2.Sf4 Sa3 Sg3 Se5 Se7 Sc5.Sc7 Se7 Sc7
(varianty 1 - 2 - 3 - 4 - 5 - 6 -7 - 8 - 9 - 10) (body
0,5 - 1 - 1,5 -2 - 2,5 -3 - 3,5 -4 - 4,5 - 5)

S#2 (12+13)
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